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4.1
4.1
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3.

60



1992

1978

61



62



63



64

21

20

40



65



150

2102

62. 17%

66

1307

50



20

18.07% 70
30. 43%
90

80

20 70
16. 97%

4.17%

80
28. 82%

10 ~

67



68



69



| 50
800 / 3% 115
/ 1000 10%
5% 500

800x 1-3% =776 /
776 x 10000 = 7760000 776
= + X +
= 1000+50 x10% +10=115
500 x 10000 =5000000
115 +500 =615

=776-615- 776 x5% =122.2
= +
=122.2 +105 =227.2
50/227.2 =0. 22
I 950 50 2
I 8%
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6%

800x 1-3% =776 /

776 x 20000 =15200000 =1520
1000 +1000 x10% +10=210
500x 1-8% x 20000 =920

210 +920 =1130

1520 - 1130 - 1250 x5% =314
314 +200 =514
1000/514 =1. 95

514- 950 x 1+6% *= -553.42

514 - 553.42 x1.06 = - 72. 63

514 - 72. 63 x1. 06 =437. 01
437.01 - 50 =387.01

3-387/514=2.25

] 2
0.6 10000
0.4 20000 0.6 8000
0.4 3000 760

800 /

10000 x 0. 6 +20000 x 0. 4 =14000
14000 x 760 =10640000 = 1064

8000 x 0. 6 +3000 x0. 4 =6000
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1064 +480 =1544
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336.8 +200 =536. 8
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5. 38.8 76 7.2
6. 122.2 314 336.8
7. 227.2 514 536. 8
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1980
7.2
7.3 1988 ~ 1997
Y, K, L |[In Y| K
It I,
1988 | 2980 | 15729 | 2954 |0.0088|1.6723 |- 1.5636 -9 |- 0.6000

1989 | 4685 | 16130 | 3012 |0.4418|1.6781|- 1.1306] -7 |- 0.5942

1990 | 7131 | 16569 | 3058 |0.8467|1.6898 |- 0.7257| -5 |-0.5825

1001 | 8558 | 18128 | 3073 |1.0242|1.7748|- 0.5482] -3 |-0.4975

1992 | 12255 | 20528 | 3082 |1.3804|1.8962 |- 0.1920f -1 |-0.3761

1993 | 16141 | 31289 | 3088 |1.6538/|2.3157| 0.0814 0.0434

1994 | 20750 | 36022 | 3065 |1.9125|2.4641| 0. 3401 0.1918

1
3
1995 | 25074 | 63352 | 3069 |2.1005|3.0274| 0.5281 5 0. 7551
7
9

1996 | 35113 | 69318 | 3064 |2.4389)|3.1190| 0. 8665 0. 8467
1997 | 38223 | 68111 | 3116 |2.5069|3.0846 | 0.9345 0.8123
> /n 1.5224 (2. 2723

2

Yl Y1
Inr:InAb +)\t+alnf A>0 O0=a=1
t

t

¥ x,2 =330
¥ %,2 =3. 4269
Y XX, =27. 1124
> X,y =45. 6699
Y %,y =4. 3379
A= leyzxzz " szylexz
2X122X22 - 2X1X2 ’
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_ 38.8953

395. 7948

o = szylez B leylexz
lezzxzz - 2X1X2 ?
_193. 2846
395. 7948

B=1- a=0.5116
InA, =1.5724 - 0.0983 x5.5 - 0.4884 x 2. 2723
= - 0.0780=3A, =1. 0812

=0. 0983

=0.4884

a =y- ak- gl =0.2907 - 0. 1578 x 0. 4884 -
0. 0054 x 0. 5116 =0. 2109
_0.2109

- a 0H = = 0,
E, y x 100% 0. 2907 72. 55%
E, = %‘ x100% =26.50%
E, =%I x100% =0. 95%
3
7.3
E. E +E E E
1995 68.73 31.27 30. 46 0.81
1996 71.57 28.43 27.76 0.67
1997 72.55 27.45 26. 50 0.95

167



I

@ E.>E +E E >E,
1988 ~ 1997 10

@ 7.3 E, E. E 1995 ~1997
1995 ~ 1997
2.
1 1993 ~ 1997

7.4 1993 ~ 1997

1993 1994 1995 1996 1997

12.50 | 12.81 | 12.91 | 13.09 | 13.23

1.48 1.52 1.53 1.48 1.48

% 10.8 25.4 26.4 28.3 26.8

% 80.94 | 78.28 | 85.05 | 81.92 | 78.06

2.49 1.60 1.10 1.74 1.64

%

— 14907 | 1543.6 | 1284.3 | 2235

% 75.12 82.4 84.5 85.5 85.74

0.51 0.40 0.48 0.38 0.40

% 92.5 93.3 92.3 | 95.85 | 95.77

y 88.44 | 83.08 | 92.2 | 88.24 | 87.95
0

% 0.38 0.32 0.09 0.17 0.12

608.8 | 766.9 | 2355.6 | 3403.8 | 4568. 7

13990 | 19632 | 24501 | 36313 | 37664
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106. 97

62. 62

130. 03

169. 12
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1993 1994 1995 1996 1997

% 2.60 6.16 6. 16 4.23 4.92

37.8 37.8 32.28 27.2 28.02

2
3 1993 1993 ~ 1997
5
7.5
7.5 B
1993 1994 1995 1996 1997
Bl | 100.00 | 112.87 | 115.34 | 118.17 | 115. 31
B2 | 100.00 | 126.17 | 165.14 | 224. 14 | 325. 16
B3 | 100.00 | 88.60 | 86.37 | 84.02 | 80.79
B4 | 100.00 | 120.35 | 163. 78 | 210.54 | 287.67
B5 | 100.00 | 123.64 | 187.35 | 287. 67 | 356. 79
4 1 3 B C
OB
1994 ~ 1997
1994
3 15

10 “ ”
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1995 1993 1994

122. 6% 1994 14688
207.5% 2131.8
1982 1994
1994 26. 5%
74.4% 1996 76.4% 1997 91. 7%
4500 1.5
2B
3B
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